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INTRODUCTION

Vodafone have been studying the Apply Charging / Apply Charging Report functionality for CAMEL Control of GPRS and would like to clarify our understanding of the operation with CN2. We also have some questions on the functionality.
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OPEN QUESTIONS

1) How do we calculate the total volume transferred?
Assumption: The total volume transferred will be equal to the sum of all the distinct 'VolumeTariffSwitchInterval' values received during the current life-time of the dialogue, plus the current 'VolumeSinceLastTariffSwitch' value. But, what if two subsequent 'VolumeTariffSwitchInterval' values are equal?


2) How does the gsmSCF recognise that a tariff switch has occurred?
Assumption: If the value of 'VolumeTariffSwitchInterval' returned in an ACR is different to the value of 'VolumeTariffSwitchInterval' in the previous ACR then a new tariff switch has occurred. However, if the two 'VolumeTariffSwitchInterval' values are equal then a tariff switch might have occurred!


3) What happens on Change of Position?
Assumption: When an MS sets up a context in the coverage of SGSN A and then moves to SGSN B, the change of position will cause SGSN A to send a final ACR. The total volume transferred by SGSN A is calculated by the gsmSCF using the answer to Question 1. The gsmSCF can send a new threshold to SGSN B and the data transfer counters start from 0.

4) What will be reported on QoS change? How does this affect the example above? Does the gsmSCF have to respond with an additional AC? 

CONCLUSION

CN2 are asked to confirm whether the above example demonstrates a correct understanding of the functionality and if not, to correct the example.

CN2 are asked to confirm whether the answers to the open questions are correct and if not, to provide correct answers.

